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() Get BratCIA 

(a) Sense-data are 

1. Choose the correct answer (any ten) : 

() objective 

(iii) sensation 

(i) Berkeley's view 

(ii) Kant's view 

) judgements 

(b) Regarding the world of universals, Russell has criticized 

The figures in the margin indicate full narks. 

(i)) innate or natural 

(ü) scientific 

(c) According to Russell, knowledge of things may be called 

i) Two and two are four. 

(ii) All men are mortal. 

|English Version] 

(11) knowledge by acquaintance (iv) None of these. 

(d) According to Rusell, common man's belief in the existence of matter is 

(iv) Both (ii) and (ii). 

(8) 

() imaginary 

(i) law of uniformity of nature 

(iv) things immediately known in sense experience 

(iüi) law of gravitation 

() acquaintance 

(i) Hume's view 

(e) Which of the following is an empirical generalization? 

(111) use of words 

(iv) (i) and (ii) both. 

(0523+0524+0525+0526) 

(111) All squares are four-sided figures. 

(ii) knowledge of truths 

() The principle of induction is known as 

(ii) imaginary 
(iv) None of these. 

(g) According to Russell, the basis of all our knowledge (both knowledge of things and knowleugs truths) is 

(ii) law of causation 

(iv) both (i) and (ii). 

(i) intuition 

(iv) self-realization. 



() law of contradiction 

(h) Which of the following cannot be treated as a law of thought? 

() law of identity 

(i) 'A bad singer is a singer is 

(i) a purely analytical judgement 

(ii) a purely synthetic judgement 

(i) a purecly a posteriori judgement 

(() The value of philosophy lies in 
(iv) both synthetic and a posteriori judgement. 

(1) giving definite answers 

() unanalyzed philosophic contemplation 

() raising the questions themselves 

(i) certainty 

(iv) the desire to establish the existence of God. 

(i) being critical 

(9) 

(ii) law of excluded middle 

(iv) law of uniformity of nature. 

(k) The essential characteristic of philosophy which makes it a study distinct from science, is 

i) phenomenalism 

(ü) coherence theory 

2. Answer any five questions briefly : 

) Which theory regarding the nature of truth does Russell consider to be satisfactory? 
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(1) presence of method 

(iv) being logical. 

(i) pragmatism 

(a) Explain the principle of induction in brief. 

(iv) correspondence theory. 

3. Answer any two questions : 

(b) How does Russell distinguish between appearance and reality? 
(c) How does Russell distinguish between knowledge by acquaintance and knowledge by description? 
(d) Discuss, according to Russell, sources of knowledge of things (particular and universal) and 

knowledge of truth. 

(e) What is the main argument in favour of the existence of matter? 
() What are the two kinds of self-evidence, according to Russell? Explain in brief. 
(g) Discuss Russell's criticism of Berkeley's concept of universal. 

5x5 

(h) Briefly assess the type of realism supported by Russell in The Problems of Philosophy. 

(a) What is idealism? How does Russell explain the word idea"? How does he refute Berkeley's 
idealism? 3+4+8 
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(b) How does Russell show that our belief of ordinary physical objects is full of self-contrad:s 

Explain. 

(c) Discuss how Russell determines the limitations of philosophical knowledge. 

(d) By what means the knowledge of universals is acquired? Discuss after Russell. 
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